TOP VIEW
END CAP 6.0 mm THICK MILD STEEL
CENTER MARK FOR DRILLING
% IF_MOUNTING STROBE LIGHT etc.
f W 7 A
| |
| |
| |
| |
| |
| |
| |
N
| |
| |
PATE N —— | |

$20.0—— -

TOTAL HEIGHT

1480+£2.0

4 x M10 LOCK NUTS
(NOT SUPPLIED)

PLATE "B’

4 x M10 ANCHOR BOLTS,

RAG BOLT ASSEMBLY OR SIMILAR
(NOT SUPPLIED)

CONDUIT UP TO $80.0

(NOT SUPPLIED) FRONT VIEW

TYPICAL INSTALLATION OF AN HPU—-5 TYPE

DO NOT SCALE

IFIN

DOUBT — ASK!

—— CABLE ENTRY

HPU-5 WALL MOUNTING GASKET
HPU-5 BACK PLATE

HELP POINT (SOLD SEPARATELY)

4 x M10 FLAT WASHERS (NOT SUPPLIED)
4 x M10 LOCK NUTS (NOT SUPPLIED)

. 250.0 _
B 200.0 _
= | " | | —4 HOLES ¢15
4 ,
—-O el
|
{0 ) £ BOLLARD VARIANTS
MODEL PROD.CODE | TOTAL HEIGHT
| ——990.0 BOL-317 [51275 1700 mm +/-2 mm & S
PR | ey BOL-320 [51276 2000 mm +/-2 mm S~
i | ") BOL-330 51277 [3000 mm +/-2 mm o
o\% BOL-340 [51311 4000 mm +/-2 mm
| NOTES
DIATE 'R’ 1. BOLLARD TOTAL HIEGHT DEPENDANT ON MODEL B0L—317
SCALE 1:2 2. MATERIAL: 100 mm OD TUBE 4 mm THICK
3. FINISH: DURAGAL, POWDERCOAT APO GREY RIPPLE
3RD ANGLE FIRST USE & REVISION NOTES DATE | INIT L—B»O@C«ﬁm ELECTRONICS
PROJECTION 2. BOL-340 ADDED TO BOLLARD VARIANTS TABLE. (dwg first released at rev 1) 12/12/08 | LFB
BOL-3XX BOLLARD
@ 3. PLATE "B’ DIMENSIONS CORRECTED. 29/10/10| LFB | INSTALLATION DETAIL
-/ SIZE ADAPTED FROM REVISION mzowmrm
3 15.
UNLESS OTHERWISE SPECIFIED: DATE :
_u_z_mzm_ozwowmmz_,_zomm__._._z_ﬂmmm 30/06 /2008 mmw/%v_mc” G.RAYWARD Am_mv___m.u_méa

DECIMALS DIAS + 0.05

(CJACQUES ELECTRONICS PTY LTD 2008

X = 0.4
XX £ 0.15 ANGULAR: 0.5

ows No. BOL—IXX—=INS—Y




